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EERAER 3,540, 262
HRE 3,540,262 x 73.9% — 6,515 2,609,738
REEBE 3,540,262 + 2,609,738 6, 150, 000
E R 2,025,005 + 254,200 2,279, 205
EEAGE 2,025, 005
EEEE 254, 200
Z Ot R A 2,025,005 x 53.85% ( 35% =+ (1 — 35%) ) 1,090, 465
KB RE 2,279,205 + 1,090, 465 3,369,670
—REEERE 3,369,670 x 53.85% ( 35% = (1 — 35% ) ) — 4,237 1,810,330
EREZ T 3,369,670 + 1,810,330 5,180, 000
ES i 6,150,000 + 5,180, 000 11, 330, 000
HEGEHRLE 11,330,000 x 10.00% 1,133,000
HAEEER (I E 11,330,000 + 1,133,000 12, 463, 000
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EEREE 5,819, 467
WMRIREE® 5,819, 467
WMRIREER 5,819, 467
MKiEE 5,292, 467
BE#K 1,209, 169
1 FE#RE 1.00 588, 226 588, 226
=
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WRiEE 3,285, 241
3 EfE - BE 1.00 1, 680, 309 1, 680, 309
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HE R
A 1.00 75, 800. 00 75, 800
FE AR (ERE)
A 2.50 64, 800. 00 162, 000
A (A)
A 2.50 57, 000. 00 142, 500
BER (B)
A 1.00 47, 200. 00 47, 200
HEm (C)
A 0.50 38, 400. 00 19, 200
R FEHE
A 1.00 54, 600. 00 54, 600
BIEHED
A 1.00 47,100. 00 47,100
B = B Em A
A 1.00 36, 900. 00 36, 900
AR KDY
% 0.50 585, 300. 00 2,926
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A 4.00 25, 900. 00 103, 600
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B 4.00 3,521.00 14,084 /2. 00H / 8H
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B 1.00 189, 895. 00 189,895 6.00H / 8H
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A 3.00 64, 800. 00 194, 400
HEm (A)
A 4.50 57, 000. 00 256, 500
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A 3.50 47, 200. 00 165, 200
BIEHED
A 2.00 47,100. 00 94, 200
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A 2.00 36, 900. 00 73, 800
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A 6.00 34, 600. 00 207, 600
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A 6.00 25,900. 00 155, 400
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Rt R - T/ \wr—o

KEBKSHRESEEED2)

BEBE5 4
&% MEFE (EREFED) THSY (18.8km)
4 g g - BRTE BAr 2 B £ W = 5 &=
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A 1.00 57, 000. 00 57,000
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AR (A)
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= 1.00 79, 800. 00 79, 800
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= 1.00 142, 600. 00 142, 600
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& &t 55, 500
HBifiRES : 3
BlREH  XBE S4 k2 2 1HHY 2.00H / 8H
£ 5 - iRt =-Fiv] £ i %5 W OE i =
VD
L 7.00 152. 50 1,067
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L 137.00 86. 00 11,782
EiEMmE

A 1.20 29, 400. 00 35,280 8=1.20
LEME

A 1.20 23, 300. 00 27,960 3=1.20
B (Sl D 200PS%!

B il 6.00 1,970. 00 11, 820 B ER R fE
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B 1.65 20, 500. 00 33,825 a=1.65 #AA
RGERE

% 26.15 120, 667. 00 31,554
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4 5 R - BKTE By H = B € £ W OB B =
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